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[Answers can be written in English or Bengali or Hindi or Nepali only.]

GrouP A

Answer question No. 1 and any two from the rest.

. Choose the correct answer: | xd=4
(a) The reduced bearing of a line is N81°W, its whole circle bearing is (i) §1°, (ii) 99°, (iii) 9°, (iv) 279".

(b) The zero of the graduated circle of a prismatic compass is located at (i) north, (ii) south, (iii) east,
{iv) west direction.

{c) The usual length of a ranging rod is (i) 1 m, (ii) 2 m, (iii) 4 m, (iv) none of these.
(d) The least distance that can be read by a 4 m folding staff is (i) 5 cm, (ii) 50 cm, (iii) 5 mm, (iv} 5 m.

. Define: base line, check line, tie line and offset. 2xd=F
. The distance between two points by a chain of 20 m was 1245 m and when measured by a 30 m chain was
1250 m. If the 30 m chain used was 1 link too short what correction is required in 20 m chain? 8
(a) Name the methods of orientation of plane table.
(b) What is (i} Centering, (ii) Radiation, (iii) Intersection. 24+2x%3=H
(a) The bearing of a line AB is 240° and that of BC is 120° 30", Find the included angle at station B.
(b) Write the full forms of M.SL.,C.P.,, FB,,BM,BB.,RL.,GTS., BS. 4+4=R
Grour B

Answer question No. 6 and any two from the rest,

Answer the following questions (any six): 1x6=06
(a) Forcement mortar _____ sand is used.

{b) The size of traditional brick with mortar is

{c) The part of the building below plinth level is called as

(d) Presence of salt and alkaliesare_____ in pit sand than that {}f river sand.
() The thin sheet made of teak wood is termed as .

(f) Cement mortar with coarsesandis___ than the mortar with fine sand.
(g) Marble is originated from ____ rock.
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7. Write in brief about the maintenance: procedure of the following (any three): 3Ixd=12
{(a) Sanitary and Plumbing;
(b) Wall;
- (c) Doors and Windows;
(d) Paints.

8. (a) What are the engineering (chemical) classification of stones? Give at least one example from each.
(b) Discuss the characteristics of good building stones.
(c) Where the following stones are used in building construction works—lime stone, granite. 5+542=12

9. (a) Mention different types of flooring.
(b) Show the detail section of brick wall with footing.
(c) Give brief specification on earthwork in filling. 4+4+4=12

10. (a) Write short notes on (i) form work, (i) curing of concrete.
(b) What shall be the considerations to be laid during residential building planning? 2}(3% +7=12

11. (a) State the qualities of good brick.
(b) State the usages of (i) porcelain tiles, (ii) hollow clay tiles.
{c) Write notes on field test for (i) lime, (if) portland cement. G42x24+2x2=12
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